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% J*t NP-Complete 7R 32 7 (A)# & B 4Z(sorting problem) (B)#773 Bk ‘& i< F® 3% (all-pair shortest path) (C)*=
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#-0(n®) ~ O(log n) ~ O(n) » % O(n’) ik »c 5 YLH 1=t B 5] o (5%)

What is the difference between an assembler and a compiler? (5%)

Summarize the difference between a RISC architecture and an CISC architecture. (5%)

What are some differences between a transport layer based on the TCP protocol and another based on the UDP protocol? (5%)

Design an algorithm by using pseudo code to find all the factors of a positive integer. For example, in the case of the integer 12, your
algorithm should report the values 1, 2, 3, 4, 6, and 12. (10%)

Design a recursive algorithm by using pseudo code to solve the famous Towers of Hanoi Problem for an arbitrary number of rings.
(10%)
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